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Sample answer:ﬁ_ o ( Get BT Do this problem to find out.
. y—25= l[x —100) e. The cost for making spirit buttons is show in Number of Cost
’ the table. Write an equation in point-slope Buttons | ($)
form to represent the cost y of making x 100 25
ctl”
i E buttons. ‘ 150 3 |

Guided|Practice

Write an equation in point-slope form and slope-intercept form for
each line. e

1. passes through (2, 5), slope = 4 2. passes through (=3, 1)and (=2, —1)
y—5=4(x—-2);y=4x—3 Sample answer:y — 1 = —2(x + 3);

y=—2x—5

3. Janelle is planning a party. The cost for 20 people is $290.
The cost for 45 people is $590. Write an equation in
point-slope form to represent the cost y of having a party

for x people. (Frmple (;Mnem

Sample answer: y — 290 = 12(x — 20) How cowfident ave you avout g
writing linear equations? ;

Check the box that applies. E

4, @_L Building on the Essential Question How does using i
the point-slope form of a linear equation make it easier " . @ Q = §

to write the equation of a line? S@mPple answer: You ~ U uuu 3
can substitute the slope and a point into the equation. For more help, go online to i
You do not need to find the y-intercept of the line. | Booess & Personal Tutos. §
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'ﬂdependeﬂt practice Go online for Step-by-Step Solutions .

Write an equation in point-slope form and slope-intercept form for each line.

1. passes through (1, 9), slope = 2 2. passes through (4, —1), slope = —3
y—9=2x—1);y=2x+7 y+1=—3(x—4)y=—3x+11

3. passes through (—4, —5), slope = 3 4, passesthrough (3, —=6)and (-1, 2)

ry

3 3
5=4[x+4}:y; 4”_2 Sample answer: y + 6 = —2(x — 3);
y=-—2
ﬁpdssesthrough (4, —4) and (8, —10) 6. passes through (3, 4) and (5, —4)
3
Sample answer:y + 4 = —(x — 4); Sample answer: y + 4 = —4(x — 5);
3
y=—3x+2 y=—4ax+ 16

7. BT 3171 For a science experiment, Mala measured .. | Height

the height of a plany%gzgua 1&1;:\ (i:-l

infarmation in the t
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ﬁpdsses through (4, —4) and (8, —10) 6. passes through (3,4) and (5, —4)
3
Sample answer: y + 4 = —J(x — 4); Sample answer: y + 4 = —4(x — 5);
3
y=—3x+2 y=—4x+ 16
7. E3T317] For a science experiment, Mala measured Weeks Height
the height of a plant every week. She recorded the (in.)
information in the table. Assuming the growth is linear, 5 13
write an equation in point-slope form to represent the 10 14

height y of the plant after x weeks.
Sample answer:y — 14 = %[x - 10)

8. After 2 seconds on a penalty kick in soccer, the ball travels 160 feet. After
2.75 seconds on the same kick, the ball travels 220 feet. Write an equation
in point-slope form to represent the distance y of the ball after x seconds.

Sample answer: y — 160 = 80(x — 2)

- —r— — Lesson 6 Write Linear Equations 225
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Write each equation in standard form.

By -4=-3x-3
Ix+y=13

10. y +9=2(x+5)
2x—y=-1
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11, (LSS Identify Structure Draw a line connecting the form of the equation to

the correct equations.

Sx+3y=12 f

[ Slope-Intercept Form ey B R gy ey
Slope-lntevcept Form j y=2x—F§ _
LS L —
( Standavd Fovm J ————
. B

[— $oakslcpe de_: - H] - _4; -Z;,r . _Jl
T y=10-%% |

 F—
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[ H.O.T. Problems Higher order Thinking

12. (3% Reason Abstractly Write a linear equation that is in point-slope form.
Identify the slope and name a point on the line.

Sample answer: y — 3 = 4(x + 2); slope: 4, point on line: (—2, 3)

12 (.Ess Dercevere with Drahleme’@) b LW =700 MH
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PoimtSlope Fovm b } dx — Ly = 24
i P ) . Y

= y=10—"%x |

™,
£7)
) H.O.T. Problems Higher order Thinking

12. WSS Reason Abstractly Write a linear equation that is in point-slope form.
Identify the slope and name a point on the line.

Sample answer: y — 3 = 4(x + 2); slope: 4, point on line: (—2, 3)

13. [',{:SS Persevere with Problems The equation ofa lineisy = -y +e.

2
Write an equation in point-slope form for the same line. Explain the steps that
you used.
Sample answer:y — 5 = —% (x — 2); First, use the equation to find

the slope and the coordinates of any point on the line. Then use the

slope and coordinates to write an equation in point-slope form.

14. (855 pPersevere with Problems Order the steps to write a linear equation in
slope-intercept form if you know the slope of the line and a point on the line.

4 Simplify the equation.
2 Use the Distributive Property to multiply the slope by x and X..

1 Substitute the slope m and the coordinates of the point (x,, y;)into

the point-slope formula.

3 Use the Addition Property of Equality.



